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A = (−4, 0)

E
B = (6, 0) a I^]bB�Ac=�L�H�d�AcHeVF=�I\<>=�fR_\9;�gNPA�H�hi]b=`� y = 2x+ 10

7
	e72jkIWAc=�dc<GEG@%AcHeVFQY���lIWAcQR_JCm=n�2Q���V;��9P=`�$AcB�C$9P��9PEG=R�

7x2 + 13y2 + 6
√

3xy − (32− 12
√

3)x− (32
√

3 + 12)y + 84 = 0.

o ��hcQ�IJEGSRHDCp��@�]bK�IJA�Q�_JCpXF7
qF72jkrP<GE>S�QR_W@%S��WstIJEvu

w �^x ∫ dx√
x + 3
√
x
,

w r'x ∫
sin3 xdx,

w SDx ∫ dx

x3 + x2 + x
.

y 72jkrP<GE>S�QR_W@%NzH�<G=k{PL�MPAc_\H�L�Ab�Z9PEGSRQ�H�9P=`�lIJAcQR_JCl_W��E�h�Nz=|s}9PE}�D��X�SR_W��E~A�BDC$9;��9FE}�

y − x2 − 2x = 0, 2x− y + 4 = 0.
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ρ(r) =
1

r3
√
r2 + 1

.
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